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20. fEBIGHHRARA, E— X AE4 AR THGENERFA) KRN 4/15, K

(IENZEH B) RN 7/15, BERIR ST R#EZEN 1/10. 5K P(AIB) ,P(B1A) &
P(A U B).
1

B’ HERE PA) = E’P(B) = P(Ab) =10

P(41B) = P(B) 1/15 14
P(AB) _1/10 _ 3
P(B14) = P(A) 4/15 8




Wi GBIt E ) EE

P(A U B) = P(A) + P(B) - P(AB)
_4 .71 1 _19

T15 15 10 30
21. #& P(A) = a,P(B) = b(b > 0) ,iFBHH

%BP(AIB)B

E hARGRNES,H

P(418) _P(AB) _a+b-P(AUB)

P(B) b

i}
a+b-P(AUB) =a+b-1HP(AB) < P(A) =
[ €]

%2P(AIB)>“+Z_1

22, FETT AH T 36% H—%6,54% A _%5H,10% Z=%% . NPEE
BUH 14578, BRI EARR =85, KRS MR .
B WA= BRI, B = CBURB R TSR, C = B M
Al = T '
P(A) =36%,P(B) =54% ,P(C) = 10%

BUFTRAESR R P(A1C) = 1;}(/160)) 1{’(;()@ =1§6;78%

23. —#tEFonid, BN G 80% , KK 12% , N2 1 8%. =8 oiifd
HEE AR E E R MR N 0.9 0.8 f10.7 . AER—NToHE, REM A4
BB EE R
B wA-= fﬂx—/\mﬁ%ﬁﬁ;@” B = “EB—NTHHRZE,C = “IER—N
JCHEAWNE” D = “IRBFEEER” , NH
P(A) =80% ,P(B) = 12% ,P(C) = 8%
P(DIA) =0.9,P(DIB) =0.8,P(DIC) =0.7
WM EARX A
P(D) = P(A) -P(DIA) +P(B) - P(DIB) +P(C)P(DIC)
=0.8x0.9+0.12x0.8+0.08 x0.7 =0.872
24. FREBGHER T AP 30 8, 2 RS R 20 45, BB 100
M EFER0.06 , 2] BREEE 120 AN, ERER0.05 5K
(1) fEBR—5, WAFAEE 1 AN S R
(2) WP T= TR, MAEER 1 A R AR Ny &b
B (1) ®A, = “ER-FERPI W= ,A, = “BR—FRHZ W&, B
EB—AFERREMS A LA, MR AR, BeBRAR A
P(B) = P(A,)P(B1A,) +P(A,)P(BIA,)

=0.4




